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class='ocrx_word' id='word_1_124' title='bbox 1666 1564 1825 1604; x_wconf 89'>mogelijk</span> <span class='ocrx_word' id='word_1_125' title='bbox 1838 1567 2030 1604; x_wconf 92'>vergroten.</span>
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    </p>
   </div>
   <div class='ocr_carea' id='block_1_20' title="bbox 217 1663 570 1703">
    <p class='ocr_par' id='par_1_20' lang='nld' title="bbox 217 1663 570 1703">
     <span class='ocr_line' id='line_1_29' title="bbox 217 1663 570 1703; baseline 0 -8; x_size 40; x_descenders 8; x_ascenders 9"><span class='ocrx_word' id='word_1_126' title='bbox 217 1663 482 1703; x_wconf 88'>Overwegende</span> <span class='ocrx_word' id='word_1_127' title='bbox 497 1663 570 1695; x_wconf 88'>dat:</span>
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    <p class='ocr_par' id='par_1_21' lang='nld' title="bbox 293 1712 2257 1802">
     <span class='ocr_line' id='line_1_30' title="bbox 293 1712 2257 1753; baseline -0.002 -7; x_size 40; x_descenders 9; x_ascenders 8"><span class='ocrx_word' id='word_1_128' title='bbox 293 1726 308 1741; x_wconf 71'>ø</span> <span class='ocrx_word' id='word_1_129' title='bbox 367 1714 540 1746; x_wconf 89'>Aandacht</span> <span class='ocrx_word' id='word_1_130' title='bbox 553 1723 636 1746; x_wconf 94'>voor</span> <span class='ocrx_word' id='word_1_131' title='bbox 650 1714 709 1746; x_wconf 94'>het</span> <span class='ocrx_word' id='word_1_132'
title='bbox 725 1714 977 1746; x_wconf 92'>ondersteunen</span> <span class='ocrx_word' id='word_1_133' title='bbox 992 1722 1054 1745; x_wconf 94'>van</span> <span class='ocrx_word' id='word_1_134' title='bbox 1071 1714 1319 1745; x_wconf 89'>biodiversiteit</span> <span class='ocrx_word' id='word_1_135' title='bbox 1334 1722 1377 1753; x_wconf 95'>op</span> <span class='ocrx_word' id='word_1_136' title='bbox 1393 1713 1659 1753; x_wconf 87'>gemeentelijke</span> <span class='ocrx_word' id='word_1_137' title='bbox 1674 1713 1821 1752; x_wconf
90'>gronden</span> <span class='ocrx_word' id='word_1_138' title='bbox 1837 1712 2014 1752; x_wconf 92'>wenselijk</span> <span class='ocrx_word' id='word_1_139' title='bbox 2028 1713 2066 1750; x_wconf 91'>is,</span> <span class='ocrx_word' id='word_1_140' title='bbox 2083 1712 2257 1743; x_wconf 92'>waardoor</span>
     </span>
     <span class='ocr_line' id='line_1_31' title="bbox 365 1762 988 1802; baseline 0 -8; x_size 39; x_descenders 8; x_ascenders 8"><span class='ocrx_word' id='word_1_141' title='bbox 365 1763 472 1795; x_wconf 90'>zaden</span> <span class='ocrx_word' id='word_1_142' title='bbox 488 1771 530 1795; x_wconf 92'>en</span> <span class='ocrx_word' id='word_1_143' title='bbox 547 1763 659 1802; x_wconf 92'>pollen</span> <span class='ocrx_word' id='word_1_144' title='bbox 674 1763 735 1802; x_wconf 94'>vrij</span> <span class='ocrx_word' id='word_1_145' title='bbox 753
1763 826 1802; x_wconf 94'>spel</span> <span class='ocrx_word' id='word_1_146' title='bbox 843 1762 988 1801; x_wconf 91'>hebben;</span>
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     <span class='ocr_line' id='line_1_32' title="bbox 293 1812 2208 1853; baseline -0.002 -7; x_size 39; x_descenders 8; x_ascenders 8"><span class='ocrx_word' id='word_1_147' title='bbox 293 1825 309 1841; x_wconf 68'>ø</span> <span class='ocrx_word' id='word_1_148' title='bbox 370 1815 405 1845; x_wconf 92'>Er</span> <span class='ocrx_word' id='word_1_149' title='bbox 418 1815 450 1845; x_wconf 94'>in</span> <span class='ocrx_word' id='word_1_150' title='bbox 467 1814 526 1846; x_wconf 90'>het</span> <span class='ocrx_word' id='word_1_151' title='bbox 542
1814 654 1846; x_wconf 87'>beleid</span> <span class='ocrx_word' id='word_1_152' title='bbox 672 1814 831 1853; x_wconf 89'>rekening</span> <span class='ocrx_word' id='word_1_153' title='bbox 846 1814 1023 1853; x_wconf 91'>gehouden</span> <span class='ocrx_word' id='word_1_154' title='bbox 1039 1813 1134 1845; x_wconf 91'>dient</span> <span class='ocrx_word' id='word_1_155' title='bbox 1149 1817 1186 1845; x_wconf 91'>te</span> <span class='ocrx_word' id='word_1_156' title='bbox 1200 1813 1337 1845; x_wconf 94'>worden</span> <span class='ocrx_word'
id='word_1_157' title='bbox 1355 1816 1425 1844; x_wconf 92'>met</span> <span class='ocrx_word' id='word_1_158' title='bbox 1440 1813 1484 1844; x_wconf 92'>de</span> <span class='ocrx_word' id='word_1_159' title='bbox 1500 1813 1664 1852; x_wconf 89'>belangen</span> <span class='ocrx_word' id='word_1_160' title='bbox 1679 1821 1742 1844; x_wconf 92'>van</span> <span class='ocrx_word' id='word_1_161' title='bbox 1759 1812 1949 1852; x_wconf 91'>agrarische</span> <span class='ocrx_word' id='word_1_162' title='bbox 1965 1812 2208 1851; x_wconf
91'>producenten;</span>
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     <span class='ocr_line' id='line_1_33' title="bbox 367 1863 2221 1905; baseline -0.002 -8; x_size 39; x_descenders 8; x_ascenders 8"><span class='ocrx_word' id='word_1_163' title='bbox 367 1867 430 1897; x_wconf 91'>Het</span> <span class='ocrx_word' id='word_1_164' title='bbox 444 1866 582 1905; x_wconf 91'>gebruik</span> <span class='ocrx_word' id='word_1_165' title='bbox 595 1874 658 1897; x_wconf 94'>van</span> <span class='ocrx_word' id='word_1_166' title='bbox 675 1865 1213 1905; x_wconf 90'>gewasbeschermingsmiddelen</span> <span class='ocrx_word'
id='word_1_167' title='bbox 1229 1868 1288 1896; x_wconf 91'>ten</span> <span class='ocrx_word' id='word_1_168' title='bbox 1305 1864 1446 1904; x_wconf 90'>gevolge</span> <span class='ocrx_word' id='word_1_169' title='bbox 1460 1873 1523 1896; x_wconf 93'>van</span> <span class='ocrx_word' id='word_1_170' title='bbox 1539 1864 1796 1896; x_wconf 87'>overwaaiende</span> <span class='ocrx_word' id='word_1_171' title='bbox 1811 1863 2059 1895; x_wconf 87'>onkruidzaden</span> <span class='ocrx_word' id='word_1_172' title='bbox 2075 1863 2170 1895;
x_wconf 92'>dient</span> <span class='ocrx_word' id='word_1_173' title='bbox 2184 1866 2221 1894; x_wconf 94'>te</span>
     </span>
     <span class='ocr_line' id='line_1_34' title="bbox 365 1914 734 1946; baseline -0.003 0; x_size 40.525196; x_descenders 8.5251961; x_ascenders 9"><span class='ocrx_word' id='word_1_174' title='bbox 365 1914 500 1946; x_wconf 92'>worden</span> <span class='ocrx_word' id='word_1_175' title='bbox 517 1914 734 1946; x_wconf 94'>voorkomen.</span>
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     <span class='ocr_line' id='line_1_35' title="bbox 220 2011 632 2051; baseline 0 -9; x_size 39; x_descenders 8; x_ascenders 8"><span class='ocrx_word' id='word_1_176' title='bbox 220 2012 330 2051; x_wconf 92'>Roept</span> <span class='ocrx_word' id='word_1_177' title='bbox 346 2011 407 2042; x_wconf 91'>het</span> <span class='ocrx_word' id='word_1_178' title='bbox 423 2011 559 2050; x_wconf 91'>college</span> <span class='ocrx_word' id='word_1_179' title='bbox 574 2019 632 2050; x_wconf 90'>op:</span>
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     <span class='ocr_line' id='line_1_36' title="bbox 294 2060 1709 2101; baseline -0.001 -8; x_size 39; x_descenders 8; x_ascenders 8"><span class='ocrx_word' id='word_1_180' title='bbox 294 2073 310 2089; x_wconf 73'>o</span> <span class='ocrx_word' id='word_1_181' title='bbox 366 2063 425 2094; x_wconf 93'>Om</span> <span class='ocrx_word' id='word_1_182' title='bbox 463 2062 527 2093; x_wconf 93'>oed</span> <span class='ocrx_word' id='word_1_183' title='bbox 544 2062 813 2101; x_wconf 91'>buurmanschap</span> <span class='ocrx_word' id='word_1_184'
title='bbox 828 2065 866 2093; x_wconf 91'>te</span> <span class='ocrx_word' id='word_1_185' title='bbox 881 2065 984 2093; x_wconf 92'>tonen</span> <span class='ocrx_word' id='word_1_186' title='bbox 1002 2061 1142 2100; x_wconf 91'>richting</span> <span class='ocrx_word' id='word_1_187' title='bbox 1157 2070 1243 2093; x_wconf 94'>onze</span> <span class='ocrx_word' id='word_1_188' title='bbox 1257 2061 1448 2100; x_wconf 87'>agrarische</span> <span class='ocrx_word' id='word_1_189' title='bbox 1465 2060 1709 2100; x_wconf 89'>producenten.</span>
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     <span class='ocr_line' id='line_1_37' title="bbox 220 2207 522 2247; baseline 0 -8; x_size 40; x_descenders 8; x_ascenders 9"><span class='ocrx_word' id='word_1_190' title='bbox 220 2208 406 2247; x_wconf 90'>Ingediend</span> <span class='ocrx_word' id='word_1_191' title='bbox 422 2207 443 2239; x_wconf 95'>d</span> <span class='ocrx_word' id='word_1_192' title='bbox 470 2216 491 2239; x_wconf 95'>o</span> <span class='ocrx_word' id='word_1_193' title='bbox 513 2216 522 2240; x_wconf 87'>:</span>
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     <span class='ocr_line' id='line_1_40' title="bbox 220 2547 584 2579; baseline -0.003 0; x_size 37.38298; x_descenders 5.3829789; x_ascenders 9"><span class='ocrx_word' id='word_1_196' title='bbox 220 2547 469 2579; x_wconf 90'>Ondersteund</span> <span class='ocrx_word' id='word_1_197' title='bbox 485 2547 584 2579; x_wconf 91'>door:</span>
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     <span class='ocr_line' id='line_1_42' title="bbox 220 2741 822 2773; baseline -0.002 0; x_size 37.38298; x_descenders 5.3829789; x_ascenders 9"><span class='ocrx_word' id='word_1_199' title='bbox 220 2742 249 2773; x_wconf 93'>J.</span> <span class='ocrx_word' id='word_1_200' title='bbox 268 2741 312 2773; x_wconf 93'>de</span> <span class='ocrx_word' id='word_1_201' title='bbox 326 2741 416 2773; x_wconf 91'>Vries</span> <span class='ocrx_word' id='word_1_202' title='bbox 665 2741 694 2772; x_wconf 92'>S.</span> <span class='ocrx_word' id='word_1_203'
title='bbox 712 2741 822 2772; x_wconf 92'>Visser</span>
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     <span class='ocr_line' id='line_1_43' title="bbox 223 2790 1672 2843; baseline 0.008 -11; x_size 30.351351; x_descenders 5.3513513; x_ascenders 7"><span class='ocrx_word' id='word_1_204' title='bbox 223 2790 322 2829; x_wconf 76'>(VVD)</span> <span class='ocrx_word' id='word_1_205' title='bbox 668 2790 745 2828; x_wconf 76'>(CU)</span> <span class='ocrx_word' id='word_1_206' title='bbox 1348 2820 1501 2843; x_wconf 83'>Gemeente</span> <span class='ocrx_word' id='word_1_207' title='bbox 1511 2818 1672 2843; x_wconf 89'>Medemblik</span>
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